

①

$$\begin{array}{r} | | | \\ 8 \overline{) 888} \\ \underline{8} \\ 8 \\ \underline{ 8} \\ 8 \\ \underline{ 8} \\ 0 \end{array}$$

②

$$\begin{array}{r} | | | \\ 5 \overline{) 555} \\ \underline{5} \\ 5 \\ \underline{ 5} \\ 5 \\ \underline{ 5} \\ 0 \end{array}$$

③

$$\begin{array}{r} | | 3 \\ 3 \overline{) 339} \\ \underline{3} \\ 3 \\ \underline{ 3} \\ 9 \\ \underline{ 9} \\ 0 \end{array}$$

④

$$\begin{array}{r} 3 | 2 | 1 \\ 3 \overline{) 963} \\ \underline{9} \\ 6 \\ \underline{ 6} \\ 3 \\ \underline{ 3} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} | 2 | 1 \\ 4 \overline{) 484} \\ \underline{4} \\ 8 \\ \underline{ 8} \\ 4 \\ \underline{ 4} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} | | | \\ 6 \overline{) 666} \\ \underline{6} \\ 6 \\ \underline{ 6} \\ 6 \\ \underline{ 6} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} | | 2 \\ 4 \overline{) 448} \\ \underline{4} \\ 4 \\ \underline{ 4} \\ 8 \\ \underline{ 8} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 4 | 4 | 3 \\ 2 \overline{) 886} \\ \underline{8} \\ 8 \\ \underline{ 8} \\ 6 \\ \underline{ 6} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} | | | \\ 7 \overline{) 777} \\ \underline{7} \\ 7 \\ \underline{ 7} \\ 7 \\ \underline{ 7} \\ 0 \end{array}$$

①

$$\begin{array}{r} 212 \\ 4 \overline{) 848} \\ \underline{8} \\ 4 \\ \underline{4} \\ 8 \\ \underline{8} \\ 0 \end{array}$$

②

$$\begin{array}{r} 111 \\ 9 \overline{) 999} \\ \underline{9} \\ 9 \\ \underline{9} \\ 9 \\ \underline{9} \\ 0 \end{array}$$

③

$$\begin{array}{r} 433 \\ 2 \overline{) 866} \\ \underline{8} \\ 6 \\ \underline{6} \\ 6 \\ \underline{6} \\ 0 \end{array}$$

④

$$\begin{array}{r} 222 \\ 2 \overline{) 444} \\ \underline{4} \\ 4 \\ \underline{4} \\ 4 \\ \underline{4} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 221 \\ 3 \overline{) 663} \\ \underline{6} \\ 6 \\ \underline{6} \\ 3 \\ \underline{3} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 111 \\ 4 \overline{) 444} \\ \underline{4} \\ 4 \\ \underline{4} \\ 4 \\ \underline{4} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 211 \\ 4 \overline{) 844} \\ \underline{8} \\ 4 \\ \underline{4} \\ 4 \\ \underline{4} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 312 \\ 3 \overline{) 936} \\ \underline{9} \\ 3 \\ \underline{3} \\ 6 \\ \underline{6} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 223 \\ 2 \overline{) 446} \\ \underline{4} \\ 4 \\ \underline{4} \\ 6 \\ \underline{6} \\ 0 \end{array}$$

①

$$\begin{array}{r} 132 \\ 3 \overline{) 396} \\ \underline{3} \\ 9 \\ \underline{9} \\ 6 \\ \underline{6} \\ 0 \end{array}$$

②

$$\begin{array}{r} 112 \\ 2 \overline{) 224} \\ \underline{2} \\ 2 \\ \underline{2} \\ 4 \\ \underline{4} \\ 0 \end{array}$$

③

$$\begin{array}{r} 421 \\ 2 \overline{) 842} \\ \underline{8} \\ 4 \\ \underline{4} \\ 2 \\ \underline{2} \\ 0 \end{array}$$

④

$$\begin{array}{r} 212 \\ 3 \overline{) 636} \\ \underline{6} \\ 3 \\ \underline{3} \\ 6 \\ \underline{6} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 131 \\ 3 \overline{) 393} \\ \underline{3} \\ 9 \\ \underline{9} \\ 3 \\ \underline{3} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 224 \\ 2 \overline{) 448} \\ \underline{4} \\ 4 \\ \underline{4} \\ 8 \\ \underline{8} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 324 \\ 2 \overline{) 648} \\ \underline{6} \\ 4 \\ \underline{4} \\ 8 \\ \underline{8} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 222 \\ 4 \overline{) 888} \\ \underline{8} \\ 8 \\ \underline{8} \\ 8 \\ \underline{8} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 233 \\ 3 \overline{) 699} \\ \underline{6} \\ 9 \\ \underline{9} \\ 9 \\ \underline{9} \\ 0 \end{array}$$

①

$$\begin{array}{r} 441 \\ 2 \overline{) 882} \\ \underline{8} \\ 8 \\ \underline{ 8} \\ \phantom{ 8} 2 \\ \underline{\phantom{ 8} 2} \\ \phantom{\phantom{ 8} 2} 0 \end{array}$$

②

$$\begin{array}{r} 333 \\ 3 \overline{) 999} \\ \underline{9} \\ 9 \\ \underline{ 9} \\ \phantom{ 9} 9 \\ \underline{\phantom{ 9} 9} \\ \phantom{\phantom{ 9} 9} 0 \end{array}$$

③

$$\begin{array}{r} 232 \\ 3 \overline{) 696} \\ \underline{6} \\ 9 \\ \underline{ 9} \\ \phantom{ 9} 6 \\ \underline{\phantom{ 9} 6} \\ \phantom{\phantom{ 9} 6} 0 \end{array}$$

④

$$\begin{array}{r} 212 \\ 2 \overline{) 424} \\ \underline{4} \\ 2 \\ \underline{ 2} \\ \phantom{ 2} 4 \\ \underline{\phantom{ 2} 4} \\ \phantom{\phantom{ 2} 4} 0 \end{array}$$

⑤

$$\begin{array}{r} 343 \\ 2 \overline{) 686} \\ \underline{6} \\ 8 \\ \underline{ 8} \\ \phantom{ 8} 6 \\ \underline{\phantom{ 8} 6} \\ \phantom{\phantom{ 8} 6} 0 \end{array}$$

⑥

$$\begin{array}{r} 341 \\ 2 \overline{) 682} \\ \underline{6} \\ 8 \\ \underline{ 8} \\ \phantom{ 8} 2 \\ \underline{\phantom{ 8} 2} \\ \phantom{\phantom{ 8} 2} 0 \end{array}$$

⑦

$$\begin{array}{r} 234 \\ 2 \overline{) 468} \\ \underline{4} \\ 6 \\ \underline{ 6} \\ \phantom{ 6} 8 \\ \underline{\phantom{ 6} 8} \\ \phantom{\phantom{ 6} 8} 0 \end{array}$$

⑧

$$\begin{array}{r} 231 \\ 2 \overline{) 462} \\ \underline{4} \\ 6 \\ \underline{ 6} \\ \phantom{ 6} 2 \\ \underline{\phantom{ 6} 2} \\ \phantom{\phantom{ 6} 2} 0 \end{array}$$

⑨

$$\begin{array}{r} 422 \\ 2 \overline{) 844} \\ \underline{8} \\ 4 \\ \underline{ 4} \\ \phantom{ 4} 4 \\ \underline{\phantom{ 4} 4} \\ \phantom{\phantom{ 4} 4} 0 \end{array}$$

①

$$\begin{array}{r} 322 \\ 3 \overline{) 966} \\ \underline{9} \\ 6 \\ \underline{6} \\ 6 \\ \underline{6} \\ 0 \end{array}$$

②

$$\begin{array}{r} 241 \\ 2 \overline{) 482} \\ \underline{4} \\ 8 \\ \underline{8} \\ 2 \\ \underline{2} \\ 0 \end{array}$$

③

$$\begin{array}{r} 213 \\ 3 \overline{) 639} \\ \underline{6} \\ 3 \\ \underline{3} \\ 9 \\ \underline{9} \\ 0 \end{array}$$

④

$$\begin{array}{r} 222 \\ 3 \overline{) 666} \\ \underline{6} \\ 6 \\ \underline{6} \\ 6 \\ \underline{6} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 244 \\ 2 \overline{) 488} \\ \underline{4} \\ 8 \\ \underline{8} \\ 8 \\ \underline{8} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 322 \\ 2 \overline{) 644} \\ \underline{6} \\ 4 \\ \underline{4} \\ 4 \\ \underline{4} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 223 \\ 3 \overline{) 669} \\ \underline{6} \\ 6 \\ \underline{6} \\ 9 \\ \underline{9} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 121 \\ 3 \overline{) 363} \\ \underline{3} \\ 6 \\ \underline{6} \\ 3 \\ \underline{3} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 313 \\ 3 \overline{) 939} \\ \underline{9} \\ 3 \\ \underline{3} \\ 9 \\ \underline{9} \\ 0 \end{array}$$

①

$$\begin{array}{r} 221 \\ 4 \overline{) 884} \\ \underline{8} \\ 8 \\ \underline{8} \\ 4 \\ \underline{4} \\ 0 \end{array}$$

②

$$\begin{array}{r} 213 \\ 2 \overline{) 426} \\ \underline{4} \\ 2 \\ \underline{2} \\ 6 \\ \underline{6} \\ 0 \end{array}$$

③

$$\begin{array}{r} 423 \\ 2 \overline{) 846} \\ \underline{8} \\ 4 \\ \underline{4} \\ 6 \\ \underline{6} \\ 0 \end{array}$$

④

$$\begin{array}{r} 122 \\ 3 \overline{) 366} \\ \underline{3} \\ 6 \\ \underline{6} \\ 6 \\ \underline{6} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 122 \\ 2 \overline{) 244} \\ \underline{2} \\ 4 \\ \underline{4} \\ 4 \\ \underline{4} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 121 \\ 2 \overline{) 242} \\ \underline{2} \\ 4 \\ \underline{4} \\ 2 \\ \underline{2} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 342 \\ 2 \overline{) 684} \\ \underline{6} \\ 8 \\ \underline{8} \\ 4 \\ \underline{4} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 211 \\ 3 \overline{) 633} \\ \underline{6} \\ 3 \\ \underline{3} \\ 3 \\ \underline{3} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 133 \\ 2 \overline{) 266} \\ \underline{2} \\ 6 \\ \underline{6} \\ 6 \\ \underline{6} \\ 0 \end{array}$$

①

$$\begin{array}{r} 123 \\ 2 \overline{) 246} \\ \underline{2} \\ 4 \\ \underline{4} \\ 6 \\ \underline{6} \\ 0 \end{array}$$

②

$$\begin{array}{r} 221 \\ 2 \overline{) 442} \\ \underline{4} \\ 4 \\ \underline{4} \\ 2 \\ \underline{2} \\ 0 \end{array}$$

③

$$\begin{array}{r} 332 \\ 2 \overline{) 664} \\ \underline{6} \\ 6 \\ \underline{6} \\ 4 \\ \underline{4} \\ 0 \end{array}$$

④

$$\begin{array}{r} 431 \\ 2 \overline{) 862} \\ \underline{8} \\ 6 \\ \underline{6} \\ 2 \\ \underline{2} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 331 \\ 2 \overline{) 662} \\ \underline{6} \\ 6 \\ \underline{6} \\ 2 \\ \underline{2} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 334 \\ 2 \overline{) 668} \\ \underline{6} \\ 6 \\ \underline{6} \\ 8 \\ \underline{8} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 312 \\ 2 \overline{) 624} \\ \underline{6} \\ 2 \\ \underline{2} \\ 4 \\ \underline{4} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 444 \\ 2 \overline{) 888} \\ \underline{8} \\ 8 \\ \underline{8} \\ 8 \\ \underline{8} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 132 \\ 2 \overline{) 264} \\ \underline{2} \\ 6 \\ \underline{6} \\ 4 \\ \underline{4} \\ 0 \end{array}$$

①

$$\begin{array}{r} 242 \\ 2 \overline{) 484} \\ \underline{4} \\ 8 \\ \underline{8} \\ 0 \\ \underline{0} \\ 0 \end{array}$$

②

$$\begin{array}{r} 134 \\ 2 \overline{) 268} \\ \underline{2} \\ 6 \\ \underline{6} \\ 8 \\ \underline{8} \\ 0 \end{array}$$

③

$$\begin{array}{r} 411 \\ 2 \overline{) 822} \\ \underline{8} \\ 2 \\ \underline{2} \\ 0 \\ \underline{0} \\ 0 \end{array}$$

④

$$\begin{array}{r} 434 \\ 2 \overline{) 868} \\ \underline{8} \\ 6 \\ \underline{6} \\ 8 \\ \underline{8} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 243 \\ 2 \overline{) 486} \\ \underline{4} \\ 8 \\ \underline{8} \\ 6 \\ \underline{6} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 124 \\ 2 \overline{) 248} \\ \underline{2} \\ 4 \\ \underline{4} \\ 8 \\ \underline{8} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 214 \\ 2 \overline{) 428} \\ \underline{4} \\ 2 \\ \underline{2} \\ 8 \\ \underline{8} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 113 \\ 2 \overline{) 226} \\ \underline{2} \\ 2 \\ \underline{2} \\ 6 \\ \underline{6} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 111 \\ 2 \overline{) 222} \\ \underline{2} \\ 2 \\ \underline{2} \\ 2 \\ \underline{2} \\ 0 \end{array}$$

①

$$\begin{array}{r} 112 \\ 3 \overline{) 336} \\ \underline{3} \\ 0 \end{array}$$

②

$$\begin{array}{r} 332 \\ 3 \overline{) 996} \\ \underline{9} \\ 0 \\ \underline{9} \\ 0 \\ \underline{9} \\ 0 \end{array}$$

③

$$\begin{array}{r} 114 \\ 2 \overline{) 228} \\ \underline{2} \\ 0 \\ \underline{2} \\ 0 \\ \underline{2} \\ 0 \end{array}$$

④

$$\begin{array}{r} 412 \\ 2 \overline{) 824} \\ \underline{8} \\ 0 \\ \underline{2} \\ 0 \\ \underline{2} \\ 0 \\ \underline{4} \\ 0 \\ \underline{4} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 311 \\ 2 \overline{) 622} \\ \underline{6} \\ 0 \\ \underline{2} \\ 0 \\ \underline{2} \\ 0 \\ \underline{2} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 232 \\ 2 \overline{) 464} \\ \underline{4} \\ 0 \\ \underline{6} \\ 0 \\ \underline{6} \\ 0 \\ \underline{4} \\ 0 \\ \underline{4} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 311 \\ 3 \overline{) 933} \\ \underline{9} \\ 0 \\ \underline{3} \\ 0 \\ \underline{3} \\ 0 \\ \underline{3} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 442 \\ 2 \overline{) 884} \\ \underline{8} \\ 0 \\ \underline{8} \\ 0 \\ \underline{4} \\ 0 \\ \underline{4} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 432 \\ 2 \overline{) 864} \\ \underline{8} \\ 0 \\ \underline{6} \\ 0 \\ \underline{6} \\ 0 \\ \underline{4} \\ 0 \\ \underline{4} \\ 0 \end{array}$$